Q. P. Code: 12188

(Time: 03 Hours) Total Marks: 100

N.B  i. All questions are compulsory.
ii. Each question carries 20 marks.
iii. Draw diagrams wherever necessary.
iv. Use of simple calculator is allowed

1. Attempt any two of the following.
a) Explain the circular flow of income in an open economy.
b) Country A produces two goods Rice and Wheat. The following table gives data regarding

quantities of goods produced and their prices in the years 2010 and 2011. Calculate

i) Nominal GDP at current prices for years 2010 and 2011.
ii) Real GDP for 2041 at 2010 prices.

Goods
2010 2011
Price (Rs?) .| Quantity Price(Rs) Quantity
Rice 12 600 Kg 10 1000 Kg
Wheat 16 800'Kg 12 1200 Kg

c) Discuss the trend in sectoral composition of GDP in India.

2. Attempt any two of the following:
a) Explain the Keynesian consumption function.If the‘consumption function is C =100+0.55Y
and investment expenditure is Rs 1000 , calculate:
) Equilibrium level of national income.

i) Consumption expenditure at equilibrium level of national income.
b) ‘Investment is determined by MEC and the rate of interest” — Discuss.
c¢) Explain the working and limitations of the accelerator principle.

3. Attempt any two of the following:
a) Explain the following concepts.
i) Impact of a tax ii)Shifting of a tax iii)Incidence of a tax
b) What is public expenditure? Explain the revenue and capital expenditure with the help of
suitable examples.
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¢) Given the following budget statement, find
i) Revenue Deficit i) Fiscal Deficit iii) Primary Deficit

Items Amount in Rs. Crore
1. Revenue receipts 110
2. Revenue Expenditure (net of interest 130
payment)
3. Interest Payment 35
4. Capital Expenditure 105
5. Capital receipts (net of borrowing) 90

4. Attempt any two of the following:
a) Explain the structure of balance of payment in India.
b) Explain the various types of disequilibrium in balance of payment.
c) What is the rate of exchange? How it is determined?

5. Attempt any two of the following:
a) Explain the GDP at purchasing pewer parity.
b) Discuss the trend and composition‘of capital formation in India.
c) Explain the various types of deficit.
d) Write a note on benefits of GST.
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AT YT

o ¢) ¥4 Afaard .
R) Y& FRATHIST Qe I[OT 3Te.
3) TARTF A FaF IHTHcAT FIal.
¥) {TEAT 0T JATAT JTIX IV GRaTsil e,

U.¢ Grellerdh FIOTAET ST T2 WISl
3) ot 3egaedcliel ScqeaTdl UhiehR Falg FISC .

d) 31 U g T G EAT &l TEY 3cUIGe FHIcl. WIelel HISChHIA aEGH Scdreed
afkAToT 30T AT 0¢0 IIMOT 08¢ INiRAT fohaAd Heell ehsary fgelr 3e.
IS

iyaTe], RRAcigae, a¥ 080 & R0t T Hiftw T qeMddd 3cdest (GDP).
iaY R0¢¢ T IS FYl SRAANT ScdleeT (GDP) Ro¢o =T foheAcoTan.

T, 60 09¢
raAd(%) gfyaToT fFaaE.) | afiEmr

diged 2R gooffhal | fo gooo fah.af

I 2E, ¢oofmar | ¢ g00 fH.3f

F) AR T SN ScIGaATedr a1 Teeiciel Sdecias = &,

q.2 WrelleTdshr HIUTAET ST 9 WEdl.
37) el T YA el TISE FI.SR YA Holed C'= g00+0.95Y A IO
IAGU[H T .8000 A R, HIS:
DRTSEIT 3ol Il ITid)
i) TSERT 3cqeATedT FHAS ITddiell 39HET @O

§) J[daureh & Aisaere HHTa HIEATHAT g SFemar &Y Iral AT gla-eral .

&) YA deard HF g HAATGT TS
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7.3 el FUTAE T ge W=,
37) @rellel Hhodadl TIST .
i) hT IROMH iYL EATAROT i) IR

9) HaSIieieh TY FEUTS HA? HeGell T STl T AT Sergonedl Heredlel
TIST .

&) feiear 3icToTaadhaseT Qe
AR ii)rSTRI i) JrufAs de

3rcy FhHA (T8 AL)
1. #Hggelr Jofr g90
1. #Egel T (feaw =arst ¢om) 230
2. SATSTCTN 39
3. Hisdel WA g0y
4, Fsger AoN(-fHcas o) Qo
T.9.GTellerdehl FI0TAE g 99 |ISal.

37) HARATATS cTagRAT ITAT TISC &l

) SAdERArdde AT dfdY JehR TS, .
&) afaas &g wgurer w7 o Far [AReaa gar?

¥.9 Grellerdshr HIOTAE) alel TR Hisa.
37) TEY AFA HAATIR FYel CRAMANT 3cdTeed TS .

§) HRATceT Hisael SURVIE Ydedl & ThT AT ==l .
%) e fafdy yehR Tase .

S) & 9 AT HUAT (GST)HRIEITR AT forgr.

% 3k K K K Kk K K K k Kk K
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